REPLACEMENT PART DESCRIPTION FORM

MODEL #: ZH141228

J FACTORY USE ONLY!!
PART DESCRIPTION USED ON: | MRP# MATERIAL QTY.
PACK|P/M
1 Top Panel(w/Frame)(922x255x40mm) | ZH141228 | R65790 Wood+Metal 1 K M
2 Upper Side Post(891x253x25mm) | ZH141228 | R65791 Metal 2 F M
3 Middle Back Panel(w/Frame)(940x180x25mm) | ZH141228 | R65792 Wood+Metal 1 K M
4 Bottom Left Leg Frame(891x398x25mm) | ZH141228 | R65793 Metal 1 F M
5 Bottom Right Leg Frame(891x398x25mm) | ZH141228 | R65794 Metal 1 F M
6 Bottom Frame(990x398x25mm) | ZH141228 | R65795 Metal 1 K M
7 End Cap ZH141228 [ R65796 Plastic 4 G P
Mounting Firacket (2)
8 [Tipping Restraint Pack ZH141228 [R15074 o e (), 1 G P
Plastic Tie (1)
9 Leveler ZH141228 | 83474 Plastic 2 G P
10 |[Clothing Hook (w/#6x15mm Screws) | ZH141228 [ R65797 Metal 5 G P
11  |Seat Panel(w/Frame)(990x400x40mm) | ZH141228 | R65798 Wood+Metal 1 K M
1/4 inx40mm Allen Bolt (16)
1/4 inx15mm Allen Bolt (6)
12 [Hardware Pack ZH141228 [ R65799 1/4 in Flat Washer (22) 1 G P
1/4 in Lock Washer (22)
4mm Allen Wrench (1)
SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. September 2022 Page 1 Of 2




DESIGN
"ASHLEY"

REPLACEMENT PART DESCRIPTION FORM

MODEL #: ZH141228

1 X

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. September 2022 Page 2 Of 2




